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1.315¢ehe gL Y TUYAT fhaar Sh?
[A] &fciget

(B] Ut gUH
(C] & gfacha

[D] 3T & S AL
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2.9 9 HT TA9AT fohdet FHr?
[A] TeelTeT AT

(B] 8Hd A=A

[C] RsTdaT

(D] 8=
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3.0 YYH, S ASgehe A & ST AT, 38 AFAA@T & & F41 Feraran?
[A] TERT & R AR

[B] 31Tl T 1T

[C] TART 1 BT

[D] 313 & FI =Tt
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4 georsll el fohd Tel FT gl ST 872
[A] 3ed el

[B] FTOT FHrer

[C] #HiemTer

[D] 5= & IS e
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[A] 3TelFaist

[B] ArEwEisT

[C] ERereH

[D] 5= & I el
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6.3 T3t F FeT § ad Tor@rr/
1- R

2-3A

3- ¥H

4- g

el fawen ghow-

[A] shael 4

[B] 3haer 1

[C]13R 3

[D] 1 3R 4
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7.3901 & fhash e Tea?
[A] |1

(B] =rreY

[C] e

(D] 39T @elr
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8.31fa# Al wae *i a1?
[A] 31T

[B] Sz

[C] Fafa

[D] 357 & s Tet
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9.31MReFH A FUEY & IR A fraa for@r?
[A] 3regEny

[B] HgTREHT

[C] AT fored

[D] $713 & I5 et
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10.778 I=1 & dfe wor H U &1 g2 fHar ST ar?
[A] EHTATOT

[B] TrsreT

[C] F3fse

[D] 3rRaaer
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